Ubungsblatt Lésen quadratischer Gleichungen

Aufgaben: Lésung:
L={1;8
1) 10x>-120+6x =98x -3x> - 24
L={8;1}
2) x-502x-17)-(x-7Bx +1) =84
3) 4x(12x -13)+11x(d-3x) =16(15-1%) LS
) 2 e 3 L={1;2}
4) (Bx-4)°-(4x-3)" +(5x-2)(5x +2) =18(x +2) +3
L={21;5}

5) (5-%)x +1)=(10-2x)(5x - 9)
6) -3)Hx+2)+x=19
7) 25x%-3x+8-3x?=7x% +25x +3

8) 5x(3x-10)=10x-3x*

9) x(Bx-7)-x+4=(x+2)’ L=1{0;6}
10) x-2)*-3(x-2)-10=0 L=1{0;7}
11)  7x(5x -4)-8x(4x -3) =3(9 + 4x) L={3;3}
12) (x+D@x+3)=4x"-22 L ={-24;5}
13) 10x%-7x =7x% +4x+20 L={14;5}
14) @x-7)Bx+1)=(1-5%)(31-2%) L={-3:13}
15) 3(5-2%)=x(12x-2)+10 L={2:4
16) (-0)(x +1)=(10-2x)(5x -9) L= {2153
17) 11x% - 7x =8x> +4x+20 L={-1L;5}
18) (Bx-4)7-(4x-3)" +(5x-2)(5x +2) =18(x +2) +3 L={1;2}
19) 3x(x -10) =2x(x -10) - 5x L={0:5}
20) 18x-12(3x +9) =3(12-3x) -5(2x +7) L = {109}



